Passages from OG

Swimming Machines

Tunas, mackerels, and billfishes (marlins, sailfishes, and swordfish) swim continuously. Feeding, courtship, reproduction, and even "rest" are carried out while in constant motion. As a result, practically every aspect of the body form and function of these swimming "machines" is adapted to enhance their ability to swim.
Many of the adaptations of these fishes serve to reduce water resistance (drag). Interestingly enough, several of these hydrodynamic adaptations resemble features designed to improve the aerodynamics of high-speed aircraft. Though human engineers are new to the game, tunas and their relatives evolved their "high-tech" designs long ago.
Tunas, mackerels, and billfishes have made streamlining into an art form. Their bodies are sleek and compact. The body shapes of tunas, in fact, are nearly ideal from an engineering point of view. Most species lack scales over most of the body, making it smooth and slippery. The eyes lie flush with the body and do not protrude at all. They are also covered with a slick, transparent lid that reduces drag. The fins are stiff, smooth, and narrow, qualities that also help cut drag. When not in use, the fins are tucked into special grooves or depressions so that they lie flush with the body and do not break up its smooth contours. Airplanes retract their landing gear while in flight for the same reason.
Tunas, mackerels, and billfishes have even more sophisticated adaptations than these to improve their hydrodynamics. The long bill of marlins, sailfishes, and swordfish probably helps them slip through the water. Many supersonic aircraft have a similar needle at the nose. 
Most tunas and billfishes have a series of keels and finlets near the tail. Although most of their scales have been lost, tunas and mackerels retain a patch of coarse scales near the head called the corselet. The keels, finlets, and corselet help direct the flow of water over the body surface in such as way as to reduce resistance (see the figure). Again, supersonic jets have similar features.
Because they are always swimming, tunas simply have to open their mouths and water is forced in and over their gills. Accordingly, they have lost most of the muscles that other fishes use to suck in water and push it past the gills. In fact, tunas must swim to breathe. They must also keep swimming to keep from sinking, since most have largely or completely lost the swim bladder, the gas-filled sac that helps most other fish remain buoyant. 
One potential problem is that opening the mouth to breathe detracts from the streamlining of these fishes and tends to slow them down. Some species of tuna have specialized grooves in their tongue. It is thought that these grooves help to channel water through the mouth and out the gill slits, thereby reducing water resistance. 
There are adaptations that increase the amount of forward thrust as well as those that reduce drag. Again, these fishes are the envy of engineers. Their high, narrow tails with swept-back tips are almost perfectly adapted to provide propulsion with the least possible effort. Perhaps most important of all to these and other fast swimmers is their ability to sense and make use of swirls and eddies (circular currents) in the water. They can glide past eddies that would slow them down and then gain extra thrust by "pushing off" the eddies. Scientists and engineers are beginning to study this ability of fishes in the hope of designing more efficient propulsion systems for ships. 
The muscles of these fishes and the mechanism that maintains a warm body temperature are also highly efficient. A bluefin tuna in water of 7°C (45°F) can maintain a core temperature of over 25°C (77°F). This warm body temperature may help not only the muscles to work better, but also the brain and the eyes. The billfishes have gone one step further. They have evolved special "heaters" of modified muscle tissue that warm the eyes and brain, maintaining peak performance of these critical organs. 
【Paragraph 1】Tunas, mackerels, and billfishes (marlins, sailfishes, and swordfish) swim continuously. Feeding, courtship, reproduction, and even "rest" are carried out while in constant motion. As a result, practically every aspect of the body form and function of these swimming "machines" is adapted to enhance their ability to swim.
1. The word “enhance”in the passage is closest in meaning to 
○use
○improve
○counteract
○balance
【Paragraph 3】Tunas, mackerels, and billfishes have made streamlining into an art form. Their bodies are sleek and compact. The body shapes of tunas, in fact, are nearly ideal from an engineering point of view. Most species lack scales over most of the body, making it smooth and slippery. The eyes lie flush with the body and do not protrude at all. They are also covered with a slick, transparent lid that reduces drag. The fins are stiff, smooth, and narrow, qualities that also help cut drag. When not in use, the fins are tucked into special grooves or depressions so that they lie flush with the body and do not break up its smooth contours. Airplanes retract their landing gear while in flight for the same reason.
2. The word “they”in the passage refers to 
○qualities
○fins
○grooves
○depressions
3. Why does the author mention that Airplanes retract their landing gear while in flight? 
○To show that air resistance and water resistance work differently from each other 
○To argue that some fishes are better designed than airplanes are 
○To provide evidence that airplane engine have studied the design of fish bodies 
○To demonstrate a similarity in design between certain fishes and airplanes 
【Paragraph 4】Tunas, mackerels, and billfishes have even more sophisticated adaptations than these to improve their hydrodynamics. The long bill of marlins, sailfishes, and swordfish probably helps them slip through the water. Many supersonic aircraft have a similar needle at the nose. 
4. The word “sophisticated”in the passage is closest in meaning to
○complex
○amazing
○creative
○practical
 5. According to paragraph 4, the long bills of marlins, sailfish, and swordfish probably help these fishes by  
○increasing their ability to defend themselves
○allowing them to change direction easily
○increasing their ability to detect odors
○reducing water resistance as they swim
【Paragraph 6】Because they are always swimming, tunas simply have to open their mouths and water is forced in and over their gills. Accordingly, they have lost most of the muscles that other fishes use to suck in water and push it past the gills. In fact, tunas must swim to breathe. They must also keep swimming to keep from sinking, since most have largely or completely lost the swim bladder, the gas-filled sac that helps most other fish remain buoyant. 
6. According to the passage, which of the following is one of the reasons that tunas are in constant motion? 
○They lack a swim bladder.
○They need to suck in more water than other fishes do. 
○They have large muscles for breathing. 
○They cannot open their mouths unless they are in motion. 
【Paragraph 7】One potential problem is that opening the mouth to breathe detracts from the streamlining of these fishes and tends to slow them down. Some species of tuna have specialized grooves in their tongue. It is thought that these grooves help to channel water through the mouth and out the gill slits, thereby reducing water resistance.
7. Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? Incorrect answer choices change the meaning in important ways or leave out essential information.
○These fishes often have a problem opening their mouths while swimming. 
○The streamlining of these fishes prevents them from slowing down. 
○The streamlining of these fishes tends to slow down their breathing. 
○Opening the mouth to breathe can reduce the speed of these fishes. 
8. The word “channel”in the passage is closest in meaning to  
○reduce
○remove
○direct
○provide
【Paragraph 8】There are adaptations that increase the amount of forward thrust as well as those that reduce drag. Again, these fishes are the envy of engineers. Their high, narrow tails with swept-back tips are almost perfectly adapted to provide propulsion with the least possible effort. Perhaps most important of all to these and other fast swimmers is their ability to sense and make use of swirls and eddies (circular currents) in the water. They can glide past eddies that would slow them down and then gain extra thrust by "pushing off" the eddies. Scientists and engineers are beginning to study this ability of fishes in the hope of designing more efficient propulsion systems for ships. 
9. According to the passage, one of the adaptations of fast-swimming fishes that might be used to improve the performance of ships is these fishes' ability to  
○swim directly through eddies 
○make efficient use of water currents 
○cover great distances without stopping 
○gain speed by forcing water past their gills 
【Paragraph 9】The muscles of these fishes and the mechanism that maintains a warm body temperature are also highly efficient. A bluefin tuna in water of 7°C (45°F) can maintain a core temperature of over 25°C (77°F). This warm body temperature may help not only the muscles to work better, but also the brain and the eyes. The billfishes have gone one step further. They have evolved special "heaters" of modified muscle tissue that warm the eyes and brain, maintaining peak performance of these critical organs. 
10. According to paragraph 9, which of the following is true of bluefin tunas? 
○Their eyes and brain are more efficient than those of any other fish. 
○Their body temperature can change greatly depending on the water temperature. 
○They can swim in waters that are much colder than their own bodies. 
○They have special muscle tissue that warms their eyes and brain. 
Paragraph 6】■Because they are always swimming, tunas simply have to open their mouths and water is forced in and over their gills. ■Accordingly, they have lost most of the muscles that other fishes use to suck in water and push it past the gills. ■In fact, tunas must swim to breathe. ■They must also keep swimming to keep from sinking, since most have largely or completely lost the swim bladder, the gas-filled sac that helps most other fish remain buoyant. 
11. Look at the four squares [■l that indicate where the following sentence can be added to the passage. Consequently, tunas do not need to suck in water. 
Where would the sentence best fit? 
12. 【Directions】Complete the table below by indicating which features of fishes are associated in the passage with reducing water resistance and which are associated with increasing thrust. This question is worth 3 points. 
	REDUCING WATER RESISTANCE
	INCREASING THRUST

	●
●
●
	●
●


Features of Fishes
○The absence of scales from most of the body 
○The ability to take advantage of eddies 
○The ability to feed and reproduce while swimming 
○Eyes that do not protrude 
○Fins that are stiff, narrow, and smooth 
○The habit of swimming with the mouth open 
○A high, narrow tail with swept-back tips

参考译文：游泳机器
金枪鱼，鲭鱼，和长嘴鱼（或者说成是枪鱼、旗鱼和箭鱼）的游动从不停止。它们的进食，求偶，繁殖，甚至“休息”都在不断的运动中进行。事实上，这些游泳“机器”身体结构的每个部位及其功能都有利于它们更好地游行。
为了减少在水中前行的阻力，这类鱼身上产生了很多适应性变化。非常有趣的是，人类为了降低空气阻力加快高速飞机运行速度所进行的设计和这些鱼的适应性变化非常相似。这种设计只是人类工程师的初步尝试，但金枪鱼和他们的同类们已经拥有这种“高科技”设计很久很久。
金枪鱼、鲭鱼和长嘴鱼的流线体型简直就是一件工艺品。他们的身体光滑而坚实。从工程师的角度来看，金枪鱼的体型近乎完美。很多鱼类的绝大多数皮肤上是没有鱼鳞的，特别光滑。它们的眼睛和身体处于同一平面，根本不会凸显出来。身体表面还覆盖着一层光滑透明的外衣，鱼鳍部分坚硬、平稳而狭窄，这些特征都有助于降低前行中的阻力。当鱼儿们不使用鱼鳍时，会将它们折回到特殊的沟槽或者凹陷的地方，与身体保持同一平面，以维持它们平滑的外形。飞机收回起落装置，和这是同样的道理。
和上述特征相比，金枪鱼、鲭鱼和长嘴鱼们拥有更加精明的手段来增加它们在水中的适应性，比如他们的大长嘴。很多超音速飞机的头部就有类似的针状设计。
大多数金枪鱼和长嘴鱼的尾巴附近会长有一串脊骨和小鳍。虽然它们身上大部分地方是无鳞的，但在头部附近还保留着一块较粗的鳞片，叫做（鱼的）胸甲。脊骨、小鳍和胸甲有助于水直接流经鱼体表面，降低阻力（见附图）。同样，超音速飞机的喷头也有类似的特征。
因为金枪鱼的游动从不停止，它们必须张着嘴使水流经它们的腮。而其他鱼类的嘴里都会有一块肌肉，用于吸水和从腮里排水，金枪鱼的这块肌肉已经退化。实际上，它们必须通过游泳来呼吸。大部分金枪鱼很大程度上已经丧失了其他鱼类用于保持漂浮状态的鱼鳔，或者说已经完全丧失，因此，它们必须保持持续游泳的状态。
一个可能存在的问题在于，金枪鱼张嘴呼吸破坏了它们的流线型体型，有可能会降低它们的游泳速度。为此有的金枪鱼会在舌头上长有特殊的凹槽，以便引导水流通过嘴巴从腮缝流出，从而减少了阻力。
和降低阻力一样，金枪鱼们在游泳动力的加强上也有产生适应性变化。人类工程师在他们面前不得不自叹不如。向后倾斜并且长而狭窄的尾部非常有利于它们用最省力的方式前行。对这些鱼儿以及其他的鱼类游泳健将们来说，要保持在水里快速前行，最重要的可能就是对漩涡和逆流感知及利用的能力。漩涡会降低它们的速度，但它们在流经漩涡时不仅可以轻而易举地滑过而且会通过“推动”漩涡获得额外的动力。科学家和工程师们正在研究鱼的这种能力，以期设计出更高效的轮船推进系统。
这些鱼类的肌肉组织和保温机制也非常高效。一只蓝鳍金枪鱼在7°C (45°F)的温度下可以保持25°C (77°F)以上的体温。温暖的体温可以使得肌肉、大脑和眼睛更好地运转。长嘴鱼更厉害。它们有专门改善肌肉组织的加热器，可以使眼睛和大脑保持一定温度，从而保证自己的重要的器官保持在最好的运行状态中。

Nineteenth-Century Politics in the United States

The development of the modern presidency in the United States began with Andrew Jackson who swept to power in 1829 at the head of the Democratic Party and served until 1837. During his administration, he immeasurably enlarged the power of the presidency. "The President is the direct representative of the American people," he lectured the Senate when it opposed him. "He was elected by the people, and is responsible to them." With this declaration, Jackson redefined the character of the presidential office and its relationship to the people.
During Jackson's second term, his opponents had gradually come together to form the Whig party. Whigs and Democrats held different attitudes toward the changes brought about by the market, banks, and commerce. The Democrats tended to view society as a continuing conflict between "the people”—farmers, planters, and workers—and a set of greedy aristocrats. This "paper money aristocracy" of bankers and investors manipulated the banking system for their own profit, Democrats claimed, and sapped the nation's virtue by encouraging speculation and the desire for sudden, unearned wealth. The Democrats wanted the rewards of the market without sacrificing the features of a simple agrarian republic. They wanted the wealth that the market offered without the competitive, changing society; the complex dealing; the dominance of urban centers; and the loss of independence that came with it.
Whigs, on the other hand, were more comfortable with the market. For them, commerce and economic development were agents of civilization. Nor did the Whigs envision any conflict in society between farmers and workers on the one hand and businesspeople and bankers on the other. Economic growth would benefit everyone by raising national income and expanding opportunity. The government's responsibility was to provide a well-regulated economy that guaranteed opportunity for citizens of ability.
Whigs and Democrats differed not only in their attitudes toward the market but also about how active the central government should be in people's lives. Despite Andrew Jackson's inclination to be a strong President, Democrats as a rule believed in limited government. Government's role in the economy was to promote competition by destroying monopolies' and special privileges. In keeping with this philosophy of limited government, Democrats also rejected the idea that moral beliefs were the proper sphere of government action. Religion and politics, they believed, should be kept clearly separate, and they generally opposed humanitarian legislation.
The Whigs, in contrast, viewed government power positively. They believed that it should be used to protect individual rights and public liberty, and that it had a special role where individual effort was ineffective. By regulating the economy and competition, the government could ensure equal opportunity. Indeed, for Whigs the concept of government promoting the general welfare went beyond the economy. In particular, Whigs in the northern sections of the United States also believed that government power should be used to foster the moral welfare of the country. They were much more likely to favor social-reform legislation and aid to education.
 In some ways the social makeup of the two parties was similar. To be competitive in winning votes, Whigs and Democrats both had to have significant support among farmers, the largest group in society, and workers.Neither party could win an election by appealing exclusively to the rich or the poor. The Whigs, however, enjoyed disproportionate strength among the business and commercial classes. Whigs appealed to planters who needed credit to finance their cotton and rice trade in the world market, to farmers who were eager to sell their surpluses, and to workers who wished to improve themselves. Democrats attracted farmers isolated from the market or uncomfortable with it, workers alienated from the emerging industrial system, and rising entrepreneurs who wanted to break monopolies and open the economy to newcomers like themselves. The Whigs were strongest in the towns, cities, and those rural areas that were fully integrated into the market economy, whereas Democrats dominated areas of semisubsistence farming that were more isolated and languishing economically.
【Paragraph 1】The development of the modern presidency in the United States began with Andrew Jackson who swept to power in 1829 at the head of the Democratic Party and served until 1837. During his administration, he immeasurably enlarged the power of the presidency. "The President is the direct representative of the American people," he lectured the Senate when it opposed him. "He was elected by the people, and is responsible to them." With this declaration, Jackson redefined the character of the presidential office and its relationship to the people.
1. The word “immeasurably”in the passage is closest in meaning to 
○frequently
○greatly
○rapidly
○reportedly
2. According to paragraph 1, the presidency of Andrew Jackson was especially significant for which of the following reasons 
○The President granted a portion of his power to the Senate.
○The President began to address the Senate on a regular basis.
○It was the beginning of the modern presidency in the United States.
○It was the first time that the Senate had been known to oppose the President.
 【Paragraph 2】During Jackson's second term, his opponents had gradually come together to form the Whig party. Whigs and Democrats held different attitudes toward the changes brought about by the market, banks, and commerce. The Democrats tended to view society as a continuing conflict between "the people”—farmers, planters, and workers—and a set of greedy aristocrats. This "paper money aristocracy" of bankers and investors manipulated the banking system for their own profit, Democrats claimed, and sapped the nation's virtue by encouraging speculation and the desire for sudden, unearned wealth. The Democrats wanted the rewards of the market without sacrificing the features of a simple agrarian republic. They wanted the wealth that the market offered without the competitive, changing society; the complex dealing; the dominance of urban centers; and the loss of independence that came with it.
3. The author mentions bankers and investors in the passage as an example of which of the following? 
○The Democratic Party's main source of support
○The people that Democrats claimed were unfairly becoming rich
○The people most interested in a return to a simple agrarian republic
○One of the groups in favor of Andrew Jackson's presidency
【Paragraph 3】Whigs, on the other hand, were more comfortable with the market. For them, commerce and economic development were agents of civilization. Nor did the Whigs envision any conflict in society between farmers and workers on the one hand and businesspeople and bankers on the other. Economic growth would benefit everyone by raising national income and expanding opportunity. The government's responsibility was to provide a well-regulated economy that guaranteed opportunity for citizens of ability.
4. According to paragraph 3, Whigs believed that commerce and economic development would have which of the following effects on society?
○They would promote the advancement of society as a whole.
○They would cause disagreements between Whigs and Democrats.
○They would supply new positions for Whig Party members.
○They would prevent conflict between farmers and workers.
5. According to paragraph 3, which of the following describes the Whig Party's view of the role of government? 
○To regulate the continuing conflict between farmers and businesspeople
○To restrict the changes brought about by the market
○To maintain an economy that allowed all capable citizens to benefit
○To reduce the emphasis on economic development
【Paragraph 4】Whigs and Democrats differed not only in their attitudes toward the market but also about how active the central government should be in people's lives. Despite Andrew Jackson's inclination to be a strong President, Democrats as a rule believed in limited government. Government's role in the economy was to promote competition by destroying monopolies' and special privileges. In keeping with this philosophy of limited government, Democrats also rejected the idea that moral beliefs were the proper sphere of government action. Religion and politics, they believed, should be kept clearly separate, and they generally opposed humanitarian legislation.
6. The word “inclination”in the passage is closest in meaning to 
○argument
○tendency
○example
○warning
7. According to paragraph 4, a Democrat would be most likely to support government action in which of the following areas? 
○Creating a state religion
○Supporting humanitarian legislation
○Destroying monopolies
○Recommending particular moral beliefs
 【Paragraph 5】The Whigs, in contrast, viewed government power positively. They believed that it should be used to protect individual rights and public liberty, and that it had a special role where individual effort was ineffective. By regulating the economy and competition, the government could ensure equal opportunity. Indeed, for Whigs the concept of government promoting the general welfare went beyond the economy. In particular, Whigs in the northern sections of the United States also believed that government power should be used to foster the moral welfare of the country. They were much more likely to favor social-reform legislation and aid to education.
8. The word “concept”in the passage is closest in meaning to 
○power
○reality
○difficulty
○idea
9. Which of the following can be inferred from paragraph 5 about variations in political beliefs within the Whig Party? 
○They were focused on issues of public liberty.
○They caused some members to leave the Whig party.
○They were unimportant to most Whigs.
○They reflected regional interests.
【Paragraph 6】In some ways the social makeup of the two parties was similar. To be competitive in winning votes, Whigs and Democrats both had to have significant support among farmers, the largest group in society, and workers. Neither party could win an election by appealing exclusively to the rich or the poor. The Whigs, however, enjoyed disproportionate strength among the business and commercial classes. Whigs appealed to planters who needed credit to finance their cotton and rice trade in the world market, to farmers who were eager to sell their surpluses, and to workers who wished to improve themselves. Democrats attracted farmers isolated from the market or uncomfortable with it, workers alienated from the emerging industrial system, and rising entrepreneurs who wanted to break monopolies and open the economy to newcomers like themselves. The Whigs were strongest in the towns, cities, and those rural areas that were fully integrated into the market economy, whereas Democrats dominated areas of semisubsistence farming that were more isolated and languishing economically.
10. According to paragraph 6, the Democrats were supported by all of the following groups EXCEPT 
○workers unhappy with the new industrial system
○planters involved in international trade
○rising entrepreneurs
○individuals seeking to open the economy to newcomers
      11.Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? Incorrect choices change the meaning in important ways or leave out essential information.
○Whigs were able to attract support only in the wealthiest parts of the economy because Democrats dominated in other areas.
○Whig and Democratic areas of influence were naturally split between urban and rural areas, respectively.
○The semisubsistence farming areas dominated by Democrats became increasingly isolated by the Whigs' control of the market economy.
○The Democrats' power was greatest in poorer areas while the Whigs were strongest in those areas where the market was already fully operating.
【Paragraph 2】During Jackson's second term, his opponents had gradually come together to form the Whig party. █Whigs and Democrats held different attitudes toward the changes brought about by the market, banks, and commerce. █The Democrats tended to view society as a continuing conflict between "the people”—farmers, planters, and workers—and a set of greedy aristocrats. █This "paper money aristocracy" of bankers and investors manipulated the banking system for their own profit, Democrats claimed, and sapped the nation's virtue by encouraging speculation and the desire for sudden, unearned wealth. █The Democrats wanted the rewards of the market without sacrificing the features of a simple agrarian republic. They wanted the wealth that the market offered without the competitive, changing society; the complex dealing; the dominance of urban centers; and the loss of independence that came with it.
12. Look at the four squares II that indicate where the following sentence can be added to the passage.
This new party argued against the policies of Jackson and his party in a number of important areas, beginning with the economy.
Where would the sentence best fit?
13.【Directions】An introductory sentence for a brief summary of the passage is provided below. Complete the summary by selecting the THREE answer choices that express the most important ideas in the passage. Some answer choices do not belong in the summary because they express ideas that are not presented in the passage or are minor ideas in the passage. This question is worth 2 points.
The political system of the United States in the mid-nineteenth century was strongly influenced by the social and economic circumstances of the time.
●
●
●
Answer Choices
○The Democratic and Whig Parties developed in response to the needs of competing economic and political constituencies.
○During Andrew Jackson's two terms as President, he served as leader of both the Democratic and Whig Parties.
○The Democratic Party primarily represented the interests of the market, banks, and commerce.
○In contrast to the Democrats, the Whigs favored government aid for education.
○A fundamental difference between Whigs and Democrats involved the importance of the market in society.
○The role of government in the lives of the people was an important political distinction between the two parties.
参考译文：十九世纪美国政治
美国现代总统制度的发展是从安德鲁杰克逊开始的。这位民主党领导人在1829年掌权，直至1837年卸任。在他任职期间，总统的权力被无限量地扩大了。参议院反对他时，他曾说：“总统是美国人民的直接代表，美国总统由公民选举产生，对公民负责。”杰克逊用这番话重新定义了内阁的角色，及其与民众的关系。
在杰克逊的第二任任职期间，他的反对者们逐渐联合起来形成了辉格党。辉格党和民主党在市场、银行、商业引发的变化上持有不同的态度。民主党倾向于把社会视作平民（农民、种植园主、工人）和一小撮贪婪的贵族间持续的斗争。他们宣称，那些银行家和投资者们都是“钞票贵族”，他们在自己利益的驱使下操纵着银行系统，并且以鼓励投机和迅速赚取不义之财的行为败坏国民道德。民主党人既想从市场经济中获得好处，又不想牺牲单一土地所有权的共和体制。他们想要市场经济带来的财富而不想要竞争，不想改变社会；不想要复杂的交易；不要大城市的主宰和随着市场经济而来的独立性的丧失。
另一方面，辉格党对市场更为适应。对于他们来说，商业和经济的发展是文明化的动力。然而，辉格党人并没有预见农民、工人和商人、银行家之间的冲突。他们认为，经济发展会通过增加国民收入和就业机会使每个人受益。政府的职责就是提供一个井然有序运作良好的经济环境，保证给每一个有能力的公民机会。
辉格党和民主党的分歧不仅表现在对市场的态度上，而且表现在中央政府究竟该在人民生活中起到多少作用上。抛开安德鲁杰克逊想做一个强势总统不谈，民主党本身就主张限制政府的做法。政府在经济中的角色就是通过摧毁垄断和特权来鼓励竞争。为了遵循限制政府的做法，民主党人同样否定了道德准则属政府行为的范畴。民主党人确信，宗教和政治应划清界限，而大体上，他们也反对人道主义立法。
相反地，政府权力在辉格党人眼中是积极的。他们认为，应该用政府权力保护个人权力和公众自由，在个人努力无效时扮演特殊角色。通过规划经济和竞争，政府可以保证机会平等。确实，辉格党的政府促进公众福利超过了促进经济。特别是，美国北部的辉格党还认为政府力量应该用来推广国家的道德福利。他们更加偏好社会改革法案和补助教育。
两个政党在社会结构、人员构成上具有某种程度的相似性。为了在投票中更具竞争力，辉格党和民主党都要在社会最大群体即农民和工人当中获得大力支持。任何一个党派若只讨好穷人或富人都不可能赢得选举。然而，辉格党偏好把精力花费在商业阶层上。辉格党博得了需要信用来贷款以在世界贸易中出售棉花和米的种地的人、渴望卖出余粮的农民和希望改变现状的工人的喜好。民主党则吸引了隔离于市场外或不习惯市场的农民、工业系统外的工人和想打破垄断开发新市场的新兴小企业家的欢心。辉格党在城镇市区还有完全融入市场经济的农村区域很强势，而民主党主宰了与市场隔绝，经济日渐衰微的半自给农耕地区。
The Expression of Emotions

Joy and sadness are experienced by people in all cultures around the world, but how can we tell when other people are happy or despondent? It turns out that the expression of many emotions may be universal. Smiling is apparently a universal sign of friendliness and approval. Baring the teeth in a hostile way, as noted by Charles Darwin in the nineteenth century, may be a universal sign of anger. As the originator of the theory of evolution, Darwin believed that the universal recognition of facial expressions would have survival value. For example, facial expressions could signal the approach of enemies (or friends) in the absence of language.
Most investigators concur that certain facial expressions suggest the same emotions in all people. Moreover, people in diverse cultures recognize the emotions manifested by the facial expressions. In classic research Paul Ekman took photographs of people exhibiting the emotions of anger, disgust, fear, happiness, and sadness. He then asked people around the world to indicate what emotions were being depicted in them. Those queried ranged from European college students to members of the Fore, a tribe that dwells in the New Guinea highlands. All groups, including the Fore, who had almost no contact with Western culture, agreed on the portrayed emotions. The Fore also displayed familiar facial expressions when asked how they would respond if they were the characters in stories that called for basic emotional responses. Ekman and his colleagues more recently obtained similar results in a study of ten cultures in which participants were permitted to report that multiple emotions were shown by facial expressions. The participants generally agreed on which two emotions were being shown and which emotion was more intense. 
Psychological researchers generally recognize that facial expressions reflect emotional states. In fact, various emotional states give rise to certain patterns of electrical activity in the facial muscles and in the brain. The facial-feedback hypothesis argues, however, that the causal relationship between emotions and facial expressions can also work in the opposite direction. According to this hypothesis, signals from the facial muscles ("feedback") are sent back to emotion centers of the brain, and so a person's facial expression can influence that person's emotional state. Consider Darwin's words: "The free expression by outward signs of an emotion intensifies it. On the other hand, the repression, as far as possible, of all outward signs softens our emotions." Can smiling give rise to feelings of good will, for example, and frowning to anger?
Psychological research has given rise to some interesting findings concerning the facial-feedback hypothesis. Causing participants in experiments to smile, for example, leads them to report more positive feelings and to rate cartoons (humorous drawings of people or situations) as being more humorous. When they are caused to frown, they rate cartoons as being more aggressive.
What are the possible links between facial expressions and emotion? One link is arousal, which is the level of activity or preparedness for activity in an organism. Intense contraction of facial muscles, such as those used in signifying fear, heightens arousal. Self-perception of heightened arousal then leads to heightened emotional activity. Other links may involve changes in brain temperature and the release of neurotransmitters (substances that transmit nerve impulses.) The contraction of facial muscles both influences the internal emotional state and reflects it. Ekman has found that the so-called Duchenne smile, which is characterized by ''crow’s feet" wrinkles around the eyes and a subtle drop in the eye cover fold so that the skin above the eye moves down slightly toward the eyeball, can lead to pleasant feelings.
Ekman’s observation may be relevant to the British expression “keep a stiff upper lip”as a recommendation for handling stress. It might be that a “stiff”lip suppresses emotional response—as long as the lip is not quivering with fear or tension. But when the emotion that leads to stiffening the lip is more intense, and involves strong muscle tension, facial feedback may heighten emotional response.
【Paragraph 1】Joy and sadness are experienced by people in all cultures around the world, but how can we tell when other people are happy or despondent? It turns out that the expression of many emotions may be universal. Smiling is apparently a universal sign of friendliness and approval. Baring the teeth in a hostile way, as noted by Charles Darwin in the nineteenth century, may be a universal sign of anger. As the originator of the theory of evolution, Darwin believed that the universal recognition of facial expressions would have survival value. For example, facial expressions could signal the approach of enemies (or friends) in the absence of language.
1. The word “despondent”in the passage is closest in meaning to 
○curious
○unhappy
○thoughtful
○uncertain
2. The author mentions "Baring the teeth in a hostile way" in order to 
○differentiate one possible meaning of a particular facial expression from other meanings of it
○support Darwin's theory of evolution
○provide an example of a facial expression whose meaning is widely understood
○contrast a facial expression that is easily understood with other facial expressions
【Paragraph 2】Most investigators concur that certain facial expressions suggest the same emotions in all people. Moreover, people in diverse cultures recognize the emotions manifested by the facial expressions. In classic research Paul Ekman took photographs of people exhibiting the emotions of anger, disgust, fear, happiness, and sadness. He then asked people around the world to indicate what emotions were being depicted in them. Those queried ranged from European college students to members of the Fore, a tribe that dwells in the New Guinea highlands. All groups, including the Fore, who had almost no contact with Western culture, agreed on the portrayed emotions. The Fore also displayed familiar facial expressions when asked how they would respond if they were the characters in stories that called for basic emotional responses. Ekman and his colleagues more recently obtained similar results in a study of ten cultures in which participants were permitted to report that multiple emotions were shown by facial expressions. The participants generally agreed on which two emotions were being shown and which emotion was more intense. 
3. The word “concur”in the passage is closest in meaning to 
○estimate
○agree
○expect
○understand
4. The word “them”in the passage refers to
○emotions 
○people
○photographs
○cultures
5. According to paragraph 2, which of the following was true of the Fore people of New Guinea?
○They did not want to be shown photographs.
○They were famous for their story-telling skills.
○They knew very little about Western culture.
○They did not encourage the expression of emotions.
6. Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? Incorrect choices change the meaning in important ways or leave out essential information.
○The Fore's facial expressions indicated their unwillingness to pretend to be story characters.
○The Fore were asked to display familiar facial expressions when they told their stories.
○The Fore exhibited the same relationship of facial expressions and basic emotions that is seen in Western culture when they acted out stories.
○The Fore were familiar with the facial expressions and basic emotions of characters in stories.
【Paragraph 3】Psychological researchers generally recognize that facial expressions reflect emotional states. In fact, various emotional states give rise to certain patterns of electrical activity in the facial muscles and in the brain. The facial-feedback hypothesis argues, however, that the causal relationship between emotions and facial expressions can also work in the opposite direction. According to this hypothesis, signals from the facial muscles ("feedback") are sent back to emotion centers of the brain, and so a person's facial expression can influence that person's emotional state. Consider Darwin's words: "The free expression by outward signs of an emotion intensifies it. On the other hand, the repression, as far as possible, of all outward signs softens our emotions." Can smiling give rise to feelings of good will, for example, and frowning to anger?
7. According to the passage, what did Darwin believe would happen to human emotions that were not expressed? 
○They would become less intense.
○They would last longer than usual.
○They would cause problems later.
○They would become more negative.
【Paragraph 4】Psychological research has given rise to some interesting findings concerning the facial-feedback hypothesis. Causing participants in experiments to smile, for example, leads them to report more positive feelings and to rate cartoons (humorous drawings of people or situations) as being more humorous. When they are caused to frown, they rate cartoons as being more aggressive.
8. According to the passage, research involving which of the following supported the facial-feedback hypothesis? 
○The reactions of people in experiments to cartoons
○The tendency of people in experiments to cooperate
○The release of neurotransmitters by people during experiments
○The long-term effects of repressing emotions
9. The word rate in the passage is closest in meaning to 
○judge
○reject
○draw
○want
【Paragraph 6】Ekman’s observation may be relevant to the British expression “keep a stiff upper lip”as a recommendation for handling stress. It might be that a “stiff”lip suppresses emotional response—as long as the lip is not quivering with fear or tension. But when the emotion that leads to stiffening the lip is more intense, and involves strong muscle tension, facial feedback may heighten emotional response.
10. The word “relevant”in the passage is closest in meaning to 
○contradictory
○confusing
○dependent
○applicable
11. According to the passage, stiffening the upper lip may have which of the following effects?
○It first suppresses stress, then intensifies it.
○It may cause fear and tension in those who see it.
○It can damage the lip muscles.
○It may either heighten or reduce emotional response.
【Paragraph 2】■Most investigators concur that certain facial expressions suggest the same emotions in all people. ■Moreover, people in diverse cultures recognize the emotions manifested by the facial expressions. ■In classic research Paul Ekman took photographs of people exhibiting the emotions of anger, disgust, fear, happiness, and sadness. ■He then asked people around the world to indicate what emotions were being depicted in them. Those queried ranged from European college students to members of the Fore, a tribe that dwells in the New Guinea highlands. All groups, including the Fore, who had almost no contact with Western culture, agreed on the portrayed emotions. The Fore also displayed familiar facial expressions when asked how they would respond if they were the characters in stories that called for basic emotional responses. Ekman and his colleagues more recently obtained similar results in a study of ten cultures in which participants were permitted to report that multiple emotions were shown by facial expressions. The participants generally agreed on which two emotions were being shown and which emotion was more intense. 
12. Look at the four squares [■] that indicate where the following sentence could be added to the passage.
This universality in the recognition of emotions was demonstrated by using rather simple methods
Where would the sentence best fit?
  13.【Directions】An introductory sentence for a brief summary of the passage is provided below. Complete the summary by selecting the THREE answer choices that express the most important ideas in the passage. Some sentences do not belong in the summary because they express ideas that are not presented in the passage or are minor ideas in the passage. This question is worth 2 points.
Psychological research seems to confirm that people associate particular facial expressions with the same emotions across cultures.
●
●
●
Answer Choices
○Artificially producing the Duchenne smile can cause a person to have pleasant feelings.
○Facial expressions and emotional states interact with each other through a variety of feedback mechanisms.
○People commonly believe that they can control their facial expressions so that their true emotions remain hidden.
○A person's facial expression may reflect the person's emotional state.
○Ekman argued that the ability to accurately recognize the emotional content of facial expressions was valuable for human beings.
○Facial expressions that occur as a result of an individual's emotional state may themselves feedback information that influences the person's emotions.
参考译文：情感的表达
在世界范围内各种不同的文化里，人们都是要经历欢乐和悲伤的，但我们怎么区分其他人是高兴还是沮丧呢？事实上，很多情感的表达可能是通用的。比如，微笑显然表示友好和赞同。查尔斯达尔文是进化论的创始人，他在19世纪曾指出，怀有敌意地露出牙齿表现的是愤怒的情绪，人类对面部表情的认知具有一定的生存值。例如，面部表情可以以非语言的方式帮你判断迎面而来的是敌还是友。
很多调查得出了同样的结论，即人类的某些面部表情表达的含义是通用的。此外，不同文化背景的人可以通过面部表情的识别来判断对方的情绪。在一个经典的研究项目中，保罗埃克曼拍下了一组人的照片，分别表示愤怒、厌恶、恐惧、幸福、悲伤。然后，他安排来自世界各地的人们识别照片中所表达的情感。这些人包括欧洲大学生，居住在新几内亚高地的部落等。包括几乎从未接触过西方文化的人在内的所有人得出了一致的答案。此外，问卷中还给出了一些人们熟悉的基本表情，要求答卷者回答如果你是故事中的人物你会作出哪种基本表情？埃克曼和他的同事们从近期的一项统计中得出了相同的结论，他们对来自10个不同文化背景的参与者们进行了调查，参与者可以通过多种面部表情传达复杂的情绪。画面表达了哪两种情感？其中那张更严肃？答案基本一致。
研究心理学的学者们通常认为，面部表情可以反映人们内心的情绪状态。事实上，各种情绪状态的波动都会使得面部肌肉和大脑的电波活动增加。然而，脸部回馈假说论者们却坚持，面部表情和情绪之间的因果关系也可能是反的。他们认为，脸部肌肉承载的信号会被传至大脑的控制情绪的部位中，因此人类面部表情会影响他们的情绪。试想达尔文的话：“自由的情绪表达方式会增强心中的情感。相反，如果抑制这种表达则会削弱心中的情感。”比如，微笑可以让你心情大好吗？皱眉会让你变得愤怒吗？
关于脸部回馈假说，心理学研究提供了一些有趣的发现。比如，让参与实验的人们微笑，他们会表现的更加积极，他们评价图片相对而言更加风趣幽默。当他们皱眉头时，则变得加咄咄逼人。
面部表情和内心情感之间存在什么样可能的联系呢？首先，是刺激。这是一个有机体活动的准备阶段。面部肌肉的紧张收缩会加剧这种刺激，如那些表现得极度的恐惧肌肉收缩。加强刺激的自我感知会加剧内心各种情绪。其次，他们的联系可能会涉及到大脑温度变化和神经递质的释放（传递神经冲动的物质）。面部肌肉的收缩反映并影响内心情绪状态。埃克曼发现，所谓的杜式微笑，就是指眼睛周围的鱼尾纹和眼皮的微微下垂，引发眼睛表面的皮肤轻微朝着眼球方向下降，从而引起愉快的感觉。
埃克曼的看法可能与英国习语“保持咬紧牙关”有关，人们可以用过紧咬牙关缓解自身压力。很有可能是因为紧咬牙关抑制了消极情绪，只要嘴唇没紧张或者恐惧得发抖。但是，当内心情绪导致僵硬的嘴唇更加紧张时，面部表情强有力的收缩很有可能会加剧内心的情绪反应。
Geology and Landscape
Most people consider the landscape to be unchanging, but Earth is a dynamic body, and its surface is continually altering-slowly on the human time scale, but relatively rapidly when compared to the great age of Earth (about 4,500 billion years). There are two principal influences that shape the terrain: constructive processes such as uplift, which create new landscape features, and destructive forces such as erosion, which gradually wear away exposed landforms.
Hills and mountains are often regarded as the epitome of permanence, successfully resisting the destructive forces of nature, but in fact they tend to be relatively short-lived in geological terms. As a general rule, the higher a mountain is, the more recently it was formed; for example, the high mountains of the Himalayas are only about 50 million years old. Lower mountains tend to be older, and are often the eroded relics of much higher mountain chains. About 400 million years ago, when the present-day continents of North America and Europe were joined, the Caledonian mountain chain was the same size as the modern Himalayas. Today, however, the relics of the Caledonian orogeny (mountain-building period) exist as the comparatively low mountains of Greenland, the northern Appalachians in the United States, the Scottish Highlands, and the Norwegian coastal plateau.
The Earth's crust is thought to be divided into huge, movable segments, called plates, which float on a soft plastic layer of rock. Some mountains were formed as a result of these plates crashing into each other and forcing up the rock at the plate margins. In this process, sedimentary rocks that originally formed on the seabed may be folded upwards to altitudes of more than 26,000 feet. Other mountains may be raised by earthquakes, which fracture the Earth's crust and can displace enough rock to produce block mountains. A third type of mountain may be formed as a result of volcanic activity which occurs in regions of active fold mountain belts, such as in the Cascade Range of western North America. The Cascades are made up of lavas and volcanic materials. Many of the peaks are extinct volcanoes.
Whatever the reason for mountain formation, as soon as land rises above sea level it is subjected to destructive forces. The exposed rocks are attacked by the various weather processes and gradually broken down into fragments, which are then carried away and later deposited as sediments. Thus, any landscape represents only a temporary stage in the continuous battle between the forces of uplift and those of erosion.
The weather, in its many forms, is the main agent of erosion. Rain washes away loose soil and penetrates cracks in the rocks. Carbon dioxide in the air reacts with the rainwater, forming a weak acid (carbonic acid) that may chemically attack the rocks. The rain seeps underground and the water may reappear later as springs. These springs are the sources of streams and rivers, which cut through the rocks and carry away debris from the mountains to the lowlands.
Under very cold conditions, rocks can be shattered by ice and frost. Glaciers may form in permanently cold areas, and these slowly moving masses of ice cut out valleys, carrying with them huge quantities of eroded rock debris. In dry areas the wind is the principal agent of erosion. It carries fine particles of sand, which bombard exposed rock surfaces, thereby wearing them into yet more sand. Even living things contribute to the formation of landscapes. Tree roots force their way into cracks in rocks and, in so doing, speed their splitting. In contrast, the roots of grasses and other small plants may help to hold loose soil fragments together, thereby helping to prevent erosion by the wind.
【Paragraph 1】Most people consider the landscape to be unchanging, but Earth is a dynamic body, and its surface is continually altering-slowly on the human time scale, but relatively rapidly when compared to the great age of Earth (about 4,500 billion years). There are two principal influences that shape the terrain: constructive processes such as uplift, which create new landscape features, and destructive forces such as erosion, which gradually wear away exposed landforms.
1. According to paragraph 1, which of the following statements is true of changes in Earth's landscape?
○They occur more often by uplift than by erosion.
○They occur only at special times.
○They occur less frequently now than they once did.
○They occur quickly in geological terms.
2. The word “relatively”in the passage is closest in meaning to 
○unusually
○comparatively
○occasionally
○naturally
【Paragraph 2】Hills and mountains are often regarded as the epitome of permanence, successfully resisting the destructive forces of nature, but in fact they tend to be relatively short-lived in geological terms. As a general rule, the higher a mountain is, the more recently it was formed; for example, the high mountains of the Himalayas are only about 50 million years old. Lower mountains tend to be older, and are often the eroded relics of much higher mountain chains. About 400 million years ago, when the present-day continents of North America and Europe were joined, the Caledonian mountain chain was the same size as the modern Himalayas. Today, however, the relics of the Caledonian orogeny (mountain-building period) exist as the comparatively low mountains of Greenland, the northern Appalachians in the United States, the Scottish Highlands, and the Norwegian coastal plateau.
3. Which of the following can be inferred from paragraph 2 about the mountains of the Himalayas? 
○Their current height is not an indication of their age.
○At present, they are much higher than the mountains of the Caledonian range.
○They were a uniform height about 400 million years ago.
○They are not as high as the Caledonian mountains were 400 million years ago.
4. The word “relics”in the passage is closest in meaning to
○resemblances
○regions
○remains
○restorations
 【Paragraph 3】The Earth's crust is thought to be divided into huge, movable segments, called plates, which float on a soft plastic layer of rock. Some mountains were formed as a result of these plates crashing into each other and forcing up the rock at the plate margins. In this process, sedimentary rocks that originally formed on the seabed may be folded upwards to altitudes of more than 26,000 feet. Other mountains may be raised by earthquakes, which fracture the Earth's crust and can displace enough rock to produce block mountains. A third type of mountain may be formed as a result of volcanic activity which occurs in regions of active fold mountain belts, such as in the Cascade Range of western North America. The Cascades are made up of lavas and volcanic materials. Many of the peaks are extinct volcanoes.
5. According to paragraph 3, one cause of mountain formation is the
○effect of climatic change on sea level
○slowing down of volcanic activity
○force of Earth's crustal plates hitting each other
○replacement of sedimentary rock with volcanic rock
【Paragraph 5】The weather, in its many forms, is the main agent of erosion. Rain washes away loose soil and penetrates cracks in the rocks. Carbon dioxide in the air reacts with the rainwater, forming a weak acid (carbonic acid) that may chemically attack the rocks. The rain seeps underground and the water may reappear later as springs. These springs are the sources of streams and rivers, which cut through the rocks and carry away debris from the mountains to the lowlands.
6. Why does the author mention Carbon dioxide in the passage?  
○To explain the origin of a chemical that can erode rocks
○To contrast carbon dioxide with carbonic acid
○To give an example of how rainwater penetrates soil
○To argue for the desirability of preventing erosion
7. The word “seeps”in the passage is closest in meaning to
○dries gradually
○flows slowly
○freezes quickly
○warms slightly
【Paragraph 6】Under very cold conditions, rocks can be shattered by ice and frost. Glaciers may form in permanently cold areas, and these slowly moving masses of ice cut out valleys, carrying with them huge quantities of eroded rock debris. In dry areas the wind is the principal agent of erosion. It carries fine particles of sand, which bombard exposed rock surfaces, thereby wearing them into yet more sand. Even living things contribute to the formation of landscapes. Tree roots force their way into cracks in rocks and, in so doing, speed their splitting. In contrast, the roots of grasses and other small plants may help to hold loose soil fragments together, thereby helping to prevent erosion by the wind.
8. The word themin the passage refers to 
○cold areas
○masses of ice
○valleys
○rock debris
【Paragraph 2】Hills and mountains are often regarded as the epitome of permanence, successfully resisting the destructive forces of nature, but in fact they tend to be relatively short-lived in geological terms. As a general rule, the higher a mountain is, the more recently it was formed; for example, the high mountains of the Himalayas are only about 50 million years old. Lower mountains tend to be older, and are often the eroded relics of much higher mountain chains. About 400 million years ago, when the present-day continents of North America and Europe were joined, the Caledonian mountain chain was the same size as the modern Himalayas. Today, however, the relics of the Caledonian orogeny (mountain-building period) exist as the comparatively low mountains of Greenland, the northern Appalachians in the United States, the Scottish Highlands, and the Norwegian coastal plateau.
9. Which of the sentences below best expresses the essential information in the highlighted sentence in the passage? Incorrect choices change the meaning in important ways or leave out essential information.
○When they are relatively young, hills and mountains successfully resist the destructive forces of nature.
○Although they seem permanent, hills and mountains exist for a relatively short period of geological time.
○Hills and mountains successfully resist the destructive forces of nature, but only for a short time.
○Hills and mountains resist the destructive forces of nature better than other types of landforms.
    【Paragraph 6】Under very cold conditions, rocks can be shattered by ice and frost. Glaciers may form in permanently cold areas, and these slowly moving masses of ice cut out valleys, carrying with them huge quantities of eroded rock debris. █In dry areas the wind is the principal agent of erosion. █It carries fine particles of sand, which bombard exposed rock surfaces, thereby wearing them into yet more sand. █Even living things contribute to the formation of landscapes. █Tree roots force their way into cracks in rocks and, in so doing, speed their splitting. In contrast, the roots of grasses and other small plants may help to hold loose soil fragments together, thereby helping to prevent erosion by the wind.
10. According to paragraph 6, which of the following is both a cause and result of erosion?
○glacial activity
○rock debris
○tree roots
○sand
11. Look at the four squares [■] that indicate where the following sentence could be added to the passage.
Under different climatic conditions, another type of destructive force contributes to erosion.
Where would the sentence best fit?
12. 【Directions】Three of the answer choices below are used in the passage to illustrate constructive processes and two are used to illustrate destructive processes. Complete the table by matching appropriate answer choices to the processes they are used to illustrate. This question is worth 3 points.
	CONSTRUCTIVE PROCESSES
	DESTRUCTIVE PROCESSSES

	●
●
●
	●
●


Answer Choices
○Collision of Earth's crustal plates
○Separation of continents
○Wind-driven sand
○Formation of grass roots in soil
○Earthquakes
○Volcanic activity
○Weather processes
参考译文：地理和地貌
大部分人认为自然风景是一成不变的，事实上地球是一个动态的机体,他的外貌在人类文明进程中一直保持着持续缓慢的变化。当然，与大约4万5千亿年前的冰河时代的地貌变化相比，这个进程的确快了很多。主要有两种影响会改变地形：建设性的过程，如产生新的地表特征的地壳隆起；和破坏性的力量，如缓慢清除突出地貌的地表侵蚀。
山峰和山脉因为能够经受得住自然的洗礼，通常被认作是永恒的代名词，但地质学的角度上来说，他们的存在实际上从是相对比较短暂的。一般来说，山峰越高，形成得越晚。例如喜马拉雅山，她只有5000万年的历史。低矮山峦的历史往往更加久远，它们通常是高耸的山脉崩塌后的遗留物。在大约4亿年前，当今天的北美和欧洲大陆相结合的时候，加勒多尼亚山脉与现今的喜马拉雅山脉同样雄伟，但是，加勒多尼亚山脉的形成（造山运动）在今天遗留下来的却只是相对非常低矮的格林兰山脉：美国的北阿巴拉契亚山区，苏格兰高地和挪威海岸高原。
地壳分裂成为巨大可移动的板块，板块在柔软的岩石可塑层中漂移。有的时候，这些板块互相冲击并迫使板块边缘的岩石突起，从而形成山脉。在这个过程中，原本形成在海床上的沉积岩可能被拱起高达26，000多英尺。在另一种情况下，地震将地壳震裂。产生的岩石堆积形成断块山，从而形成山脉。还有一种情况，活火山带的火山运动也会促使山脉的形成，例如北美洲西部的喀斯喀特山脉，他的产生就是由火山岩和火山灰形成的，上面的许多山峰都是死火山。
不论山脉形成的具体原因是什么，一旦陆地高出海平面，都难逃脱被外力摧毁的厄运。裸露的岩石遭受着不断变化天气的攻击，逐渐被碾成碎石块带走，然后形成沉积岩。因此，任何地貌都只是一个短暂的阶段，它所代表的是造山与侵蚀两种力量持续斗争。
多种多样的天气加速了大自然对地貌的侵蚀。雨水冲刷了疏松的土壤并渗入到岩石的缝隙。二氧化碳在空气中与雨水相互作用形成了可以对岩石进行化学腐蚀的弱酸(碳酸)。雨水渗透到地下并能在不久后以泉水的形式流出，那些从岩石间穿过并将碎石从高山带到平原的溪水就是来源于这些泉水。
在严寒的环境下，岩石能被冰霜粉碎。冰川在长期寒冷的区域形成，这些缓慢移动的大量冰块带着大量的腐蚀岩屑阻断了山谷。在干旱地带，风是大自然侵蚀的主要手段。它带着沙子中的微粒冲击着裸露的岩石表面，把岩石吹散成更多的沙粒。动植物们对自然风景的形成也是功不可没，大树植根于岩缝之中，加速了岩石的碎裂。相比之下，草根和其他矮小植物则利于固定土壤，弱化了风蚀作用的影响。


